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Choose the correct answer from ‘ollowi o 1x20=20

1. Which of the following is an informal meth
a. Gossip
c. Government o>t
2. Social mobility is more rigid in-
a. Class system
c. Caste system

a: Socml control brings ____in society
. Social order
¢. Disobedience

4. Which one of the following statements is nol e
Economics is related with pmJ cﬁﬁn epends upon history to
" only & lerst:

Subject matter of sociology is v

c. society but study of economi JS* = ?

confined to economic acﬁvltie:" =

5. WmtisﬁletyPEOmebmtyQu { 1 H"\ljrl;‘i)‘ﬂjl‘}t.lll- generation ch
over to a new occupation. e -
a. Intra-genenuoml mnblilty, :

modern society

 studies the fun

ycations only

b. Clothing

d. All of the abov



10.

11.

12

Who are the subaltern?
People holding inferior ranks in the

a. society due to caste, class, race, b. A:ﬁ' people with power and authority
ethnicity, gender
c. Historians d. Any ruling class
Who used the concept of Sanskritization to understand the Indian society?
a. M. N. Srinivas b.G.S. Ghurye
c. Ranajit Guha d. Louis Dumont
Who used the term “sociological imagination” in understanding social issues?
a. Auguste Comte b. C. Wright Mills
¢. Emile Durkheim d. Karl Marx
Which of the following is not a deviant act? 3
a. Activities of cheating b. Breaking traffic rules
c. Always late for classes d. Completing a task on time
13. It is an endogamous group based on the principle of purity and pollution. This group is
called
a. Tribe b. Bond
c. Caste d. estate

14.

15.

16.

17,

18.

20.

What is the basis for the functioning of the legal-rational authority according to Max
Weber?

a. Non-hierarchy b. Dysfunctional system

c. Unwritten laws d. Rules

What is the form of marriage in which women of superior caste marrying men of lower
casle called?

a. Anuloma b. Pratiloma

¢. Levirate d. Sororate

White collar crime is committed by those whom the rest of society view as-
a. Delinquents b. Respectable people
¢. criminal d. drunkards

Who is considered as the father of sociology?

a. Emile Durkheim b, C. Wright Mills
¢. Auguste Comte d. Karl Marx
Which among the following country does not have any official religion?
a. Sri Lanka b. England
¢. Pakistan d. India
19. Which one of the following is ascribed status?
a. Doctor b. Wife
c. Priest d. Daughter
A wife having more than one husband is known as marriage.
a. Polygamy b.Sororal polygyny
¢. Polyandry d. Bigamy
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Time : 2 hrs. 30 min. Marks : 50
[ Answer question no 1 & any four (4) from the rest]

1. ‘Sociological imagination’ is the prerequisite for thinking 10
sociologically’.Explain the statement with reference to C.
Wright Mill’s contribution to the discipline.

2. Define marriage. Mention its different types. Bring out the 245+
changes witnessed in the institution of marriage in the =1
contemporary times.

3. How is sociology similar and different from history and 5+5=10

economics? Explain with examples

4. What do you mean by social change? Critically evaluate the 2+8=10
theories of social change.

5. Compare and contrast the approaches of G S Ghurye and M N 5+5=10
Srinivas to understand the Indian society.

6. ‘Social control can be active or passive’. Illustrate the statement 10

citing the different means of social control.

7. Has there been a society without social stratification in the 2+8=10
world? Argue your case with reference to the different types of
social stratification present in the society.

8. Write short notes on culture and society. 5+5+10

Sttt oo
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